A circle has equation

Ay — 3x— 30 5x-30

(a) Write 360 as a product of prime factors.
(b) Write 420 as a product of prime factors.
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parallelogram. Find the value of y.
61h 7'h 8ih 9'h ‘|oth '| '|1h | ]21h

A wallis 8m long and 1.8m high.

On her way to work, Jill has to
go through two sets of traffic

A cube is made of
concrete. It has length

(a) Complete the table of values for the function
y=x?-2x—8.
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. P, R, Tand V are the midpoints of
Given that -1 . . L . OQ, QS, SU and OU respectively.
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size of angle x.

Or you can always tweet me @mrchadburn
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